PROJECT: Kuhio Highway (Route 560) Emergency Slope Stabilization In Lumahai in the Vicinity of MP 5.1 to 5.3 PROJECT NO.: ER-16(002) NET LENGTH OF PROJECT: 0.2 Miles ISLAND: Kauai DISTRICT: Hanalei TYPE CODE: 6 DATE ADVERTISED: Internet Posting - July 16, 2014 Quantities shown in this BID OPENED: August 14, 2014 column are for in-house COMPLETION TIME: One hundred twenty-six (126) Calendar Days use only.			EARTHWORKS PACIFIC, INC.		THE H.E. JOHNSON COMPANY INC.		PROMETHEUS CONSTRUCTION		GOODFELLOW BROS., INC		GLOBAL SPECIALTY CONTRACTORS, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION		
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.1000	Clearing and Grubbing	L.S.	L.S.	L.S.	\$75,000.00	L.S.	\$15,000.00	L.S.	\$100,000.00	L.S.	\$50,000.00	L.S.	\$40,000.00	L.S.	\$15,000.00
202.1000	Removal of Existing Concrete Spillway, CRM Wall, Concrete Segmental Wall, and GRP	L.S.	L.S.	L.S.	\$75,000.00	L.S.	\$17,500.00	Ł.S.	\$100,000.00	L.S.	\$50,000.00	L.S.	\$50,000.00	L.S.	\$10,000.00
203.1000	Roadway Excavation	75 Cu. Yd.	Cu. Yd.	\$100.00	\$7,500.00	\$355.00	\$26,625.00	\$200.00	\$15,000.00	\$400.00	\$30,000.00	\$180.00	\$13,500.00	\$100.00	\$7,500.00
205.1000	Structure Excavation for Soil Nail Wall	526 Cu. Yd.	Cu. Yd.	\$200.00	\$105,200.00	\$209.00	\$109,934.00	\$200.00	\$105,200.00	\$400.00	\$210,400.00	\$250.00	\$131,500.00	\$75.00	\$39,450.00
205.2000	Structure Excavation for Anchor Cap Beam	8 Cu. Yd.	Cu. Yd.	\$400.00	\$3,200.00	\$209.00	\$1,672.00	\$200.00	\$1,600.00	\$400.00	\$3,200.00	\$400.00	\$3,200.00	\$75.00	\$600.00
205.3000	Structure Backfill for Soil Nail Wall	96 Cu. Yd.	Cu. Yd.	\$115.00	\$11,040.00	\$280.00	** \$26,880.00	\$200.00	\$19,200.00	\$1,500.00	\$144,000.00	\$1,100.00	\$105,600.00	\$75.00	\$7,200.00
205.4000	Structure Backfill for Anchor Cap Beam	1 Cu. Yd.	Cu. Yd.	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$200.00	\$200.00	\$800.00	\$800.00	\$2,800.00	\$2,800.00	\$75.00	\$75.00
207.1000	Ditch and Channel Excavation	40 Cu. Yd.	Cu. Yd.	\$275.00	\$11,000 .00	\$339.00	\$13,560.00	\$250.00	\$10,000.00	\$300.00	\$12,000.00	\$200.00	\$8,000.00	\$100.00	\$4,000.00
209.1000	Installation, Maintenance, Monitoring, and Removal BMP	L.S.	L.S.	L.S.	\$50,000.00	L.S.	\$47,500.00	L.S.	\$100,000.00	L.S.	\$80,000.00	L.S.	\$75,000.00	L.S.	\$20,000.00
209.2000	Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
304.1000	Aggregate Base	55 Cu. Yd.	Cu. Yd.	\$400.00	\$22,000.00	\$350.00	\$19,250.00	\$250.00	\$13,750.00	\$300.00	\$16,500.00	\$330.00	\$18,150.00	\$300.00	\$16,500.00
401.1000	HMA Pavement, Mix No. V	130 Tons	Ton	\$450.00	\$58,500.00	\$563.00	\$73,190.00	\$500.00	\$65,000.00	\$449.00	\$58,370.00	\$1,500.00	\$195,000.00	\$500.00	\$65,000.00
415.1000	Cold Planing	950 Sq. Yd.	Sq. Yd.	\$35.00	\$33,250.00	\$42.00	\$39,900.00	\$50.00	\$47,500.00	\$33.00	\$31,350.00	\$80.00	\$76,000.00	\$20.00	\$19,000.00
503.1000	Concrete for Anchor Cap Beam	12 Cu. Yd.	Cu. Yd.	\$1,500.00	\$18,000.00	\$1,500.00	\$18,000.00	\$5,000.00	\$60,000.00	\$2,000.00	\$24,000.00	\$2,300.00	\$27,600.00	\$1,500.00	\$18,000.00
507.1000	Textured and Stained Concrete Railing	10 Cu. Yd.	Cu. Yd.	\$4,500.00	\$45,000.00	\$1,500.00	\$15,000.00	\$5,000.00	\$50,000.00	\$3,000.00	\$30,000.00	\$3,800.00	\$38,000.00		\$16,000.00
	1	. 	· · · · · · · · · · · · · · · · · · ·		·		· · · · · · · · · · · · · · · · · · ·	······································						Sheet No. 1 of 4 S	Sheets

Sheet No. 1 of 4 Sheets

PROJECT: Kuhio Highway (Route 560) Emergency Slope Stabilization In Lumahai in the Vicinity of MP 5.1 to 5.3 PROJECT NO.: ER-16(002) NET LENGTH OF PROJECT: 0.2 Miles ISLAND: Kauai DISTRICT: Hanalei TYPE CODE: 6 DATE ADVERTISED: Internet Posting - July 16, 2014 Quantities shown in this column are for in-house COMPLETION TIME: One hundred twenty-six (126) Calendar Days use only.				EARTHWORKS PACIFIC, INC.		THE H.E. JOHNSON COMPANY INC.		PROMETHEUS CONSTRUCTION		GOODFELLOW BROS., INC		GLOBAL SPECIALTY CONTRACTORS, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
508.1000	Cement Rubble Masonry Wall	66 Cu. Yd.	Cu. Yd.	\$800.00	\$52,800.00	\$250.00	\$16,500.00	\$2,000.00	\$132,000.00	\$1,200.00	\$79,200.00	\$2,400.00	\$158,400.00	\$450.00	\$29,700.00
602.1000	Reinforcing Steel in Shotcrete	24,700 Lbs.	Lbs.	\$5.00	\$123,500.00	\$5.00	\$123,500.00	\$2.50	\$61,750.00	\$5.00	\$123,500.00	\$4.00	\$98,800.00	\$2.00	\$49,400.00
602.2000	Reinforcing Steel in Anchor Cap Beam	1,500 Lbs.	Lbs.	\$5.00	\$7,500.00	\$10.00	\$15,000.00	\$6.00	\$9,000.00	\$5.00	\$7,500.00	\$8.00	\$12,000.00	\$2.00	\$3,000.00
602.3000	Reinforcing Steel in Textured and Stained Railing	2,100 Lbs.	Lbs.	\$5.00	\$10,500.00	\$10.00	\$21,000.00	\$6.50	\$13,650.00	\$5.00	\$10,500.00	\$9.00	\$18,900.00	\$2.00	\$4,200.00
603.1000	Clean Existing Culverts	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
606.1000	Guardrail Type 3 - Strong Post W-Beam	340 Lin. Ft.	Lin. Ft.	\$100.00	\$34,000.00	\$75.00	\$25,500.00	\$80.00	\$27,200.00	\$140.00	\$47,600.00	\$175.00	\$59,500.00	\$160.00	\$54,400.00
606.2000	Thrie Beam Connection	1 Each	Each	\$3,500.00	\$3,500.00	\$4,400.00	\$4,400.00	\$3,500.00	\$3,500.00	\$5,700.00	\$5,700.00	\$60,000.00	\$60,000.00	\$4,000.00	\$4,000.00
606.3000	Terminal Section (Rounded End)	1 Each	Each	\$350.00	\$350.00	\$1,500.00	\$1,500.00	\$350.00	\$350.00	\$150.00	\$150.00	\$13,500.00	\$13,500.00	\$1,000.00	\$1,000.00
612.1000	GRP Swale	25 Cu. Yd.	Cu. Yd.	\$800.00	\$20,000.00	\$300.00	\$7,500.00	\$1,000.00	\$25,000.00	\$1,200.00	\$30,000.00	\$5,800.00	\$145,000.00	\$400.00	\$10,000.00
613.1000	Centerline and Reference Survey Monument	2 Each	L.S.	L.S.	\$5,000.00	L.S.	\$2,000.00	L.S.	\$2,000.00	L.S.	\$3,000.00	L.S.	\$25,000.00	L.S.	\$2,440.00
617.1000	Imported Planting Soil	70 Cu. Yd.	Cu. Yd.	\$250.00	\$17,500.00	\$493.00	\$34,510.00	\$70.00	\$4,900.00	\$248.00	\$17,360.00	\$330.00	\$23,100.00	\$125.00	\$8,750.00
619.1000	Tree Koaia (Acacia Koia, 25 gal) or Ohia (Ohia Lehua, 25 gal)	80 Each	Each	\$600.00	\$48,000.00	\$1,672.00	\$133,760.00	\$500.00	\$40,000.00	\$565.00	\$45,200.00	\$850.00	\$68,000.00	\$1,800.00	\$144,000.00
619.2000	Shrub Naupaka (Scaevola Sericea, 1 gal)	280 Each	Each	\$20.00	\$5,600.00	\$70.00	\$19,600.00	\$20.00	\$5,600.00	\$18.00	\$5,040.00	\$47.00	\$13,160.00	\$40.00	\$11,200.00
628.1000	Shotcrete	330 Sq. Yd.	Sq. Yd.	\$1,000.00	\$330,000.00	\$1,547.00	\$510,510.00	\$1,500.00	\$495,000.00	\$1,581.00	\$521,730.00	\$1,600.00	\$528,000.00	\$475.00	\$156,750.00
629.1000	4-Inch Pavement Striping (Thermoplastic Extrusion)	800 Lin. Ft.	Lin. Ft.	\$4.00	\$3,200.00	\$26.00	\$20,800.00	\$5.00	\$4,000.00	\$4.00	\$3,200.00	\$6.25	\$5,000.00	\$13.00	\$10,400.00

Sheet No. 2 of 4 Sheets

PROJECT: Kuhio Highway (Route 560) Emergency Slope Stabilization In Lumahai in the Vicinity of MP 5.1 to 5.3 PROJECT NO.: ER-16(002) NET LENGTH OF PROJECT: 0.2 Miles ISLAND: Kauai DISTRICT: Hanalei TYPE CODE: 6 DATE ADVERTISED: Internet Posting - July 16, 2014 Quantities shown in this column are for in-house COMPLETION TIME: One hundred twenty-six (126) Calendar Days use only.				WORKS IC, INC.	THE H.E. JOHNSON COMPANY INC.		PROMETHEUS CONSTRUCTION		GOODFELLOW BROS., INC		GLOBAL SPECIALTY CONTRACTORS, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION		
	**APPROX.		I INIT LICED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	LINIT DDIOC	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
ITEM NO.	ITEM	QUANTITY	UNIT USED				AMOUNT	UNIT PRICE							
629.2000	Double 4-Inch Pavement Striping (Thermoplastic Extrusion)	400 Lin Ft.	, Lin. Ft.	\$4.50	\$1,800.00	\$22.00	\$8,800.00	\$7.00	\$2,800.00	\$4.00	\$1,600.00	\$10.00	\$4,000.00	\$16.00	\$6,400.00
629.3000	Type C Pavement Marker	40 Each	Each	\$15.00	\$600.00	\$25.00	\$1,000.00	\$30.00	\$1,200.00	\$15.00	\$600.00	\$40.00	\$1,600.00	\$30.00	\$1,200.00
629.4000	Type D Pavement Marker	80 Each	Each	\$15.00	\$1,200.00	\$22.00	\$1,760.00	\$30.00	\$2,400.00	\$12.00	\$960.00	\$40.00	\$3,200.00	\$30.00	\$2,400.00
632.1000	Reflector Marker (RM-1)	7 Each	Each	\$150.00	\$1,050.00	\$500.00	\$3,500.00	\$30.00	\$210.00	\$300.00	\$2,100.00	\$170.00	\$1,190.00	\$40.00	\$280.00
641.1000	Hydro-Mulch Seeding	400 Sq. Yd.	L.S.	L.S.	\$40,000.00	L.S.	\$150,000.00	L.S.	\$13,000.00	L.S.	\$6,000.00	L.S.	\$14,000.00	L.S.	\$22,200.00
643.1000	Maintenance of Existing Landscape Areas	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
645.1000	Traffic Control	L.S.	L.S.	L.S.	\$225,000.00	L.S.	\$241,000.00	L.S.	\$100,000.00	L.S.	\$120,000.00	L.S.	\$275,000.00	L.S.	\$270,000.00
645.2000	Additional Police Officers, Aditional Traffic Control Devices, and Advertisement	F.A.	F.A.	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50, 00 0.00	F.A.	\$50,000.00
648.1000	Field-Posted Drawings	L.S.	L.S.	L.S.	\$500.00	L.S.	\$10,000.00	L.S.	\$1,000.00	L.S.	\$500.00	L.S.	\$1,800.00	L.S.	\$5,000.00
657.1000	Soil Nail Installation	2,660 Lin. Ft.	Lin. Ft.	\$195.00	\$518,700.00	\$195.00	\$518,700.00	\$280.00	\$744,800.00	\$300.00	\$798,000.00	\$275.00	\$731,500.00	\$150.00	\$399,000.00
671.1000	Protection of Seabirds	F.A.	F.A.	F.A.	\$100,000.00	F.A.	\$100,000.00	F.A.	\$100,000.00	F.A.	\$100,000.00	F.A.	\$100,000.00	F.A.	\$100,000.00
694.1000	Project Signs	L.S.	L.S.	L.S.	\$7,500.00	L.S.	\$7,500.00	L.S.	\$6,000.00	L.S.	\$5,000.00	L.S.	\$4,000.00	L.S.	\$5,000.00
695.1000	Positive Protection Barrier	520 Lin. Ft.	Lin. Ft.	\$250.00	\$130,000.00	\$55.00	\$28,600.00	\$100.00	\$52,000.00	\$250.00	\$130,000.00	\$65.00	\$33,800.00	\$115.00	\$59,800.00
696.1000	Maintenance of Trailers or Field Office	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
696.2000	Field Office Trailer or Field Office (Not to Exceed \$32,000.00)	L.S.	L.S.	L.S.	\$25,000.00	L.S.	\$32,000.00	L.S.	\$1,000.00	L.S.	\$20,000.00	L.S.	\$32,000.00	L.S. Sheet No. 3 of 4 S	\$32,000.00

	IADOLATION OF DIDO		·	,		, , , , , , , , , , , , , , , , , , ,					· · · · · · · · · · · · · · · · · · ·					
PROJECT: Kuhio Highway (Route 560) Emergency Slope Stabilization In Lumahai in the Vicinity of MP 5.1 to 5.3 PROJECT NO.: ER-16(002) NET LENGTH OF PROJECT: 0.2 Miles ISLAND: Kauai DISTRICT: Hanalei TYPE CODE: 6 DATE ADVERTISED: Internet Posting - July 16, 2014 Quantities shown in this Column are for in-house COMPLETION TIME: One hundred twenty-six (126) Calendar Days use only.			** NOTE: Quantities shown in this column are for in-house		EARTHWORKS PACIFIC, INC.		THE H.E. JOHNSON COMPANY INC.		PROMETHEUS CONSTRUCTION		GOODFELLOW BROS., INC		GLOBAL SPECIALTY CONTRACTORS, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	**APPROX. QUANTITY	. 1	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
699.1000	Mobilization (Not to Exceed 6 Percent of the Sum of All Items Excluding the Bid Price of this Item)		L.S.	L.S.	\$135,000.00		\$152,427.06	L.S.	\$150,000.00		* \$174,003.00	L.S.	\$187,000.00	L.S.	\$95,210.00	
	A. Sum of All Items	•	,	\$2,437,990.00	'	\$2,692,878.06	,	\$2,760,810.00		\$3,074,063.00	·	\$3,476,800.00	·	\$1,801,055.00		
	B. Either Furnish Foreign Steel Not to Exceed Minim Furnish Foreign Steel in Excess of Minimal Amour			\$0.00	-	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		
	C. Amount for Comparison of Bids (A + B)				\$2,437,990.00		\$2,692,878.06		\$2,760,810.00		\$3,074,063.00		\$3,476,800.00		\$1,801,055.00	
**	* Mobilization amount for The H.E. Johnson Company, Inc and Goodfellow Bros., Inc. has been adjusted Item 205.3000 for The H.E. Johnson Company, Inc. has been adjusted Note: Earthworks Pacific, Inc was rejected due to failure to meet the UDBE goal and Good Faith Effort (GFE)															
	I certify that this is a true and correct tabulation of bio	ds for this proje	ect. 5/26/2015 Date													